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module mymult2(input wire clk;
input wire reset,
input wire [15:0] a,
input wire [15:0] b,

input wire start,
output wire [31:0] result,
output wire done);

(* multstyle = "logic" *) reg [31:@] r, next_r;
reg d, next_d;

always @(posedge clk)
begin
r <= (reset) ? 32'h® : next_r;
d <= (reset) ? 1'b® : next_d;
end

// IMPLEMENTATION 2 . o,
reg [31:0] tmp[15:0]; — PAARTIAL pPRePOCr Accur

reg [31:0] tmpa; — SKHIPTED VERS jon oF A
integer 55
always @(*) e ULT 3
begin
tmp[@] = b[@] ? {16'b0, a} : 32'b0;
for (j & 13 35165 j=j331)
BEBLN REQ ST,
tmpa = {15'b0, a} << j; — Py W (e
tmp[j] = tmp[j-1] + (b[Jj] ? tmpa : 32'b0);
end
next_r = tmp[15];
next_d = start; 3 |
end o [(ZZe&— )
) ,G -
assign result = r; b |_——1 |
assign done = d;

bCoJ—O

endmodu!_e. TmP (ZLlic
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module mymultl(input wire clk, START o &

input wire reset, L ”'t 14

input wire [15:0] a, '

input wire [15:0] b, ‘

input wire start;

output wire [31:0] result, EF] |

output wire done); I ,t)t
paﬁe RES LT

(* multstyle = "logic"” *) reg [31:0] r, next_r;
reg d, next_d;

always @(posedge clk)
begin
r <= (reset) ? 32'h@ : next_r;
d <= (reset) ? 1'de : next_d;
end

// IMPLEMENTATION 1
always @(*)

begin
next r = {16'b0,a} * {16'b0,b};
next_d = start;
end
~assign done = d;

assign result

[}

r;

endmodule



